Hi PR BCRE O R — TR

fEHPEE (T BFRIC D &)

fEHPEE (T BRI D &)

wig me| mme | TR smson] 17w | oma |w| mme | BE fsmson] 17w
1 7 HF 2 21 1;5%% 25&#
1 |WHE=E 1 53 300 600 1 [Fn= 23 150 300
1 |WHE=E 2 - 88 500 1000 - 1 |BREEGE = 40 300 600
KRS |1 REE= 152 700 1400 B 2 | 47 300 600
1 |Fn= 39 150 300 2 [fn=s 37 150 300
1 |FHEE=E 43 300 600 1 |&=E= 23 150 300
1 |=EE1 67 300 600 1 [FHER = 49 300 600
1|=#E=E2 46 300 600 HiE |2 [FHE=1 37 150 300
BE
1 |fr=E1 32 150 300 2 [WHE= 2 44 150 300
1 [fn==2 25 150 300 2 |WHE=E 3 44 150 300
1 |WHE=E 1 56 300 600 1 |ZHM= 34 150 300
1 |WHE=E 2 56 300 6oof 1 |WHE= 27 150 300
, 1 |WHE=E 3 24 150 300 o 1 | BHE G = 50 300 600
e 1 |WHE= 4 24 150 300 2 | Reik= 127 500 1000
1 |fn=s 34 150 300 1 |—PEaE= 40 150 300
1 |FHEE= 48 300 600 BATE | 1 [FREE= 44 300 600
1 |#ffE=E 1 46 300 600 2 | ZPER=E 64 300 600
1 |WHE=E 2 56 300 600 1 |=E= 32 150 300
B |1 |HE= 3 24 150 300 1 [FHER = 48 300 600
1 |WHE=E 4 24 150 300  Efr | 2 |WHE=E1 48 300 600
1 |FHBR=E 48 300 600 2 [WHE= 2 48 300 600
1 |WHE=E 1 14 150 300 2 |WHE=E 3 48 300 600
1 |WHE=E 2 24 150 300 1 |WHE= 43 150 300
|1 [ 56 300 600 FELRE | 1 [BHEEE = 46 300 600
R 2 [WHE= 3 29 150 300 2 [ RaiE= 120 500 1000
2 &= 56 300 600 1 [FiE= 47 300 600
2 == 2 56 300 600 2 |&EE 44 150 300
FAHE L
1 |WHE=E 31 150 300 2 |HE=E 1 44 150 300
1 |ZHM= 15 150 300 2 [WHE= 2 23 150 300
1 [P 44 300 600 1 |WHE= 1 46 300 600
Pt J
2 &%= 36 150 300 1 |WHE=E 2 56 300 600
2 [&#=EO 36 150 3000 HAE | 1|HHE=S 24 150 300
2 |[&#%EO 42 150 300 1 |WHE=E 4 24 150 300
BN | 1 |fRfdsE 21 150 300 1 [EWoRd 27 150 300




HiE 2

Hi PR BCRE O R — TR

il FRE (1 BRI D %) il (1 Bz o )
wig (me| mme | W smson] 17w | oma |w| mwmse | BE fsmson] 17w
1 7 HF 2 21 1;% 25%
ARO[ 1= 48 300 600 1 |FE= 52 300 600
1 |WHE=E 1 32 150 300 1 |aReEE=E 117 500 1000
1 |FHEE=E 50 300 600 EFE | 2 | K&E#E=EG=®R) 97 500 1000
AH | 2|&#=E1 52 300 600 2 |/hFn=s 27 150 300
2 (== 2 44 150 300 2 [REEMHEE 56 300 600
2 [WHE= 2 43 150 300 1 [FHER = 48 300 600
1 |FHEE=E 48 300 600 1 [Fn= 36 150 300
BB
y 1 |WHE=E 1 33 150 300 1 | RiHE= 112 500 1000
e 1 |WHE=E 2 38 150 300 1 /M= 48 300 600
2 | 2 WHE=E 90 500 1000 1 |&2#= E=R) 29 150 300
1 |2 20 150 300 1 [P 39 300 600
1 |Fn= 16 150 300 A 2 |#HE= 64 300 600
2|1 |HE= 1 56 300 600 2 |fn= 53 300 600
1 |WHE=E 2 42 150 300 1 |WHE=E 1 42 150 300
1 |FHEE= 48 300 600 1 |WHE= 2 59 300 600
1 |BREEGE = 51 300 6oof |1 Fn=s 24 150 300
2 [ - HE= 35 150 300 o 1| BiiHE=E 33 150 300
HEER
2 [=% - WHE= 48 300 600 1 [FHER = 51 300 600
2 [ - HE= 48 300 600 1 |/MHE = 24 150 300
1|H o —an 53 300 600 1 |WHE=E 1 32 150 300
1 |FHEE=E 35 300 600 1 [FRE= 47 300 600
EbE)
» 1 | 16 150 300 2 [WHE= 2 24 150 300
rE 2 | KL 75 300 600 2 | KRaik= 114 500 1000
2 [FIRTH] 40 150 300 1 [FHEE = 53 300 600
2 [FEM 29 150 300 1 |WHE= 1 40 150 300
GINES
1 |WHE=E 1 42 150 300 2 [WHE= 2 50 300 600
|1 =2 42 150 300 2 [WHE= 3 66 300 600
" 1 |WHE=E 3 56 300 600 1 [FREE= 36 300 600
1 |FE=E 48 300 600| iR | 2 |AFiE= 2 21 150 300
1 |Fn= 27 150 300 APNIN 107 500 1000
1 [FE= 44 300 600 1|=#E=E1 27 150 300
A 2 == 53 300 600 REB | 1 [FRE= 47 300 600
2 [pHE= 66 300 600 2 |&#EE2 30 150 300




HiE 2

Hi PR BCRE O R — TR

il FRE (1 BRI D %) it JPBE (1 BRFfIC > &)
wig (me| mme | W smson] 17w | oma |w| mwmse | BE fsmson] 17w
1 7 HF 25% 1;% 25%
K | 2 [ KRaE= 116 500 1000 1 |[WHEER 1 (Fi=) 34 150 300
1 |fn=s 25 150 3001 & 1| Rk 145 500 1000
1 |WHE=E 1 56 300 600 1 [P = 60 300 600
| T |HE=E2 49 300 600 1 |iHE= 1 36 150 300
A 1 |WHE=E 3 30 150 300 1 |WHE= 2 23 150 300
1 |WHE=E 4 24 150 3000 1 |WHE=E 3 25 150 300
1 |FHEE= 48 300 600 ot 1 | 26 150 300
1 |WHE=E 1 56 300 600 1 |FHBLIEE = 37 300 600
1 |WHE=E 2 46 300 600 2 | KL 128 500 1000
\ 1 |FER= 48 300 600 1 |A—n 60 300 600
il 1 |WHE=E 3 24 150 300 1 [P 29 300 600
1 |[fa=E1 20 150 300 HEBIX |1 |/hEiE= 17 150 300
1 [fn=2 20 150 300 2 |fn= 18 150 300
1 |BhEEGE = 78 300 600 2 | KFn= 97 500 1000
1 [Fn= 38 150 300 1 |WHE= 30 150 300
2 [#KEE= 36 150 300 TUE | 2 |ERE 69 300 600
2 |[FIEE= 38 150 300 1 [FHE= 42 300 600
Bl
2 [haE= 104 500 1000 1 |WHE=E 1 42 150 300
3 [RaE= 168 700 1400 1 |WHE= 2 42 150 300
3 [WHE= 1 105 500 1000| [EZE | 1 |WHE=3 56 300 600
3 [WHE= 2 26 150 300 1 [Fn= 42 150 300
1 |WHE= 16 150 300 1 |FHER= 48 300 600
1 |FHEE= 33 300 600 1 |WHE= 26 150 300
THK
2 |51 = 48 300 600 N\ Lk |1 |fHEEEEE 14 300 600
2 |52 am= 47 300 600 2 |[Ea=E 83 300 600
1 |FHER=E 36 150 300 1 |k 36 150 300
KRS p—
2 (e i) 143 500 1000 HdlE | 1 [FAERSEE = 24 300 600
1 |WHE=E 1 42 150 300 2 | RaiE= 108 500 1000
1 |WHE=E 2 28 150 300 1 |=#E= 67 300 600
Rar | 1 |BHE=3 28 150 300 ) 1 |FHEREE 42 300 600
1 |[#EH= 30 150 300 A 1 [RF—n 199 700 1400
1 [FREE= 48 300 600 1 |Fn=s (FE=) 39 150 300
7 1 |[ZEHHR— 135 500 1000|  FHME | 1 |BE - FoRE 27 150 300




HiE 2

Hi PR BCRE O R — TR

fEAE (1 BRI o) fE AR (1 REfEIC D )
=3 =3
g || owEe | TR Tsmson] 17e | oma || wes | TN [smson| 17w
178 2 2 178 2 2
fa ‘: o Ry A i
- 2 SN 117 500 1000 1 [/ HE = 13 150 300
2 [— 2 niEEE 22 150 300 | 1 |HEER S 30 150 300
1 | &= 42 150 300 1 |[FRESE = 32 300 600
2 [WHE= (K) 47 300 600 1 |EiEtEE 28 300 600
KFS
2 [BHE= (/M) 39 150 300 1 |FREE= 14 150 300
BIRES
2 | BAETESRESE 37 300 600 1 |WHE= 38 150 300
1 |ZROAIE 84 300 600 2 | k&= (FnE) 88 500 1000
2 |#BaE= 13 150 300 1 A= 77 300 600
2 [Fn= 34 150 300 1(&ZH=E 75 300 600
-
2 [FAHE= 29 300 600 HE 2 [ HHE= 75 300 600
3|8 1UHE= 28 150 300 2 |fRBER = 75 300 600
3|FE 20HE= 116 500 1000 2 /hEiE=R 32 150 300
1 |[FEHE= 112 500 1000 1 |FHE= 1 49 300 600
1 |FniHE=s 96 500 1000 1 |HE=E 2 49 300 600
HEA
A 1 | BlEsE R 55 300 600 1 |FHE= 3 35 150 300
1 [fo= 30 150 300 1 |[FAE= 48 300 600
A‘/’f;/;\: P
GhIH 22 o=
1 [shlE= 27 150 300 1 Fu=) 62 300 600
1 |FHE=O 49 300 600 B 1|8 o= 62 300 600
5
1 [HEE® 42 150 300 1 [(R&iE= 74 300 600
BN =)
1 |FHE=E® 42 150 300 1 [FAE= 98 300 600
1 |FREE=E 48 300 600 1 |FREE=E 48 300 600
1 |EEE=E 24 150 300 1 |WHE= 1 56 300 600
1|1&ES 58 300 600 4R 1 |HE= 2 42 150 300
1 |[fE¥E=E 26 150 300 1 |HE=E 3 42 150 300
K
1 RS = 34 300 600 1 |FREE= 18 150 300
1|17F=E 16 150 300 1 |WHE= 1 40 150 300
2| 248E= 73 300 600 1 |FHE= 2 35 150 300
1 | KREE=E 101 500 1000 2 [WHE=E 3 54 300 600
ESW/N
H
1 |/hEE=E 33 150 300 2 [WHE= 4 40 150 300
EAR
1 [FHE= 38 300 600 A NN 118 500 1000
1 |fHRREE 22 150 300 1 A= 56 300 600
1 | KREE=E 99 500 1000
EW
1 |[ifHE= 23 150 300




